1. 2014 97140 247} 247F 49 842] 7h=olAq = 4

3
A2) 42 WEE A 90] 49

@ 18714 @ 24714 @ 36714
@ 567FA] B 647}FA]



1070 €] A8 % 470 ¢ 93 A=)t
S A Aste] £ B ),
g9l Be Aul thAl B4 sheth)

O] )

U
| =



F A 2x+y-3=0,(a+)x+y-3=09] W] HR7} (k,-3)
A uf AL 0, k9] o a+ ko Fr2?

D1 @ 2 3 3 @ 4 B 5



gk o] 47), W7k o] 27, W Fol 67) ol 9l Fiy]
A AL Be AR w, Aol gt T, T A w2, A WA
W3k Fo] UL B8-S Foteleh (2, AW 2L AL elstn &

Yol hA] gich)

(=g
-



y = ax+39] THILE yZo] ope] Weko 2 p e Wl 5 AR
A (0, —4)8 AV, y = —x- 29 x% oA whuthL @ o,
240] WA y = by + a $10] A e HL?

@ (0,-2) @ (1,-9) ® (-1,5)
@ (-2,12) ® (2,-14)



Holo] AM y = x 9o T AP} xE 9 ARG, 0)
PQ=QR ], /PQR=90°A A QEH
zﬁ@y_aﬁw} AFthElE OPQR €] HolE ol
a+b 9 g=& Fstofzt

Mo o
NSE =
=) mlo



